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-~ A RN T ERER TR E S P (database schema)

Member(mld, name, bDate, gender)

I1¢ B 5L » 42 > 2 p > |25

FriendRelation(mld, setDateTime, friend)
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Article(mld, ald, title, content, postDate)
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Reply(mld, ald, rTime, content, responder)
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LA eni g (primary key) ™ RS A o gt b > 3 00T entbiE (foreignkey )
FriendRelation(mld){- FriendRelation(friend)3= 2}—“5’ 3] Member =73 42
Article(mld) %= #] Member 2 4

Reply(mld, ald) %% #] Article =3 4

Reply(responder) % ] Member &5 4

OiAe S g * 0T chdcit e = FriendRelation 3L A
CREATE TABLE FriendRelation (
mld  CHAR(10) NOT NULL,
setDateTime DATETIME  NOT NULL,
friend CHAR(10),
PRIMARY KEY (mld, setDateTime))

g ik eh g (foreign key) * KK % 3= mid ﬂfr friend T4 F- ¢
B 2 % % ( Member(mld) ) 4t 12 :x > 7 g 4R A FrlendReIatlon(mId) "
FriendRelation(friend) » #%.w 7 B3 ¥4 8 2 ; # - x:g B e Member FEEAAN L
T HSES IR A FrlendReIatlon(mId) Pz 4 FriendReIation ohky 1 %#ﬁ%‘]“ﬁ ’
e &2 e I A FriendRelation(friend) » Pl #Z 4 @k = Z & (null)

* SQL-99 3F /% k% i :x F 4L 4 FriendRelation 1 g Xt p e (10 4 )

@3 * - B SQL-99 #cit (Oracle ~ SQL Server & MySQL 53 SQL Fi2+ ¥ » it 3
#FBH ) FlA T & R R
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s EEs P RKL k2,k3,4a,b)
O 7l h ot R B BgE (key) » Fp 2 o (10 4 )
e FF= 2Rt (3NF) o (10 4)

Z ~ F /T 5 DOM (Document Object Model ) tree -

Foot element:
<hookstore=

Parent
Child
Attribute: Elerment: ] Attribute:
*lang” <hook:= “category”
Elermenmnt: Element: Elerment: Element:
<titles <authorz <YBArE <prices
T+
Siblings
Text: Tesxt: Text: Tesxt:
Everyday Italian Giada De 2005 20.00
Laurentiis
O 71412+ DOM tree 5 XML schema = (10 4 )

Il
@37 412+ DOM tree 7 XML document = (10 4 )

w o~ F T = 4 FHE 2 4 (database transaction )

T1: T2: T3:
Read (A) Read(B) Read(C)
Read(B) Read(C) Read(A)
Write(B) Write(C) Write(A)
Commit(T1) Commit(T2) Commit(T3)
7l - B4R (schedule) - v 7 E %R« (serial ) #7E ¥ 18 B« (serializable) -
(5% )
OF 714 - Bz vERAT A D fre i f A (dirtyread) SR AL (7 4)
(,)'ﬂ—;q :h, — @R U A FER (serlal) eV d Bt FEECAN w02 (strict 2PL)
“TAZ o (84)
@37 :u - BV ERANFEY TE AL > Fré i+ (deadlock) kA -
DBMS a2 7 e 34 5 784 7 (10 &)



